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'@'m p ~lidpl~ Aritmetik for eksponenter (negative eksponenter)

Naws Dato: _ Seore:
(-5 +5= (—8)" —9 =
70 +3= 5= (-6) =
670 +(-8) = (H (D)=
(=6)° + (-7 = 8- 8=
8 —(-7) = (=7 =5=
(7P +9= (-6)"" = (-10) =
600+ (4) = (-2) 2=
(9" -5= (=7 +7=
(D +7= D= (3)=
(3= (9= [
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Aritmetik for eksponenter (negative eksponenter)

Navn:

(=5)° +5=30

2 1
7D +3="2=3-
7 77

- 47 5
67 +(=8) = () = (7)

(—6)> + (=7) = 29

82— (-7)=171

(—7)<‘”+9=62

7 7

- 23 5
60 +(-4)=(-7)=(37)

o\ e 4 1
9 =5= () = (-5)

D +7=38

3D gy = 20 _g?
B (9=2 -8

Dato: Score:

(-8)" —9=(-8)

5% — (-6) = 31

D =T L
N TRT:
8—8=0

(-7)° —5=44

59 5
-6 1) _ —~10)= == = 9=
(-6 V= (-10)= "~ =9

- 7 3
2 -2=( =1

(=7)° +7=56

(17 —(-3)=4

7 —1=48
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